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R THE
= 1 220, 226, 873
W S T
= 1 1, 284, 000
AP T
= 1 1, 284, 000
S8 WK 1500kNLL T
#% 3 428, 000 1, 284, 000
R B 1L
= 1 65, 373, 593
ARV oy AL E T
(PLAERE)
= 1 34, 330, 024
NSV RAE 1600kNTRY ] =77
#% 6 4, 627, 000 27, 762, 000
HiIFL ¢ 35 L=385mm
L 156 4,949 772, 044
Th- (PERER E) SD345 D25 X 795
VN 12 3,985 47, 820
7= (PERERIE) SD345 D25 X 790
VN 36 3,985 143, 460
7= (PERERIE) SD345 D25 X 785
VN 32 3,975 127, 200
Th- (PERERE) SD345 D25 X 780
VN 40 3, 955 158, 200
Th- (PERERE) SD345 D25 X775
VN 24 3,945 94, 680
Th- (PERER E) SD345 D25 X 770
VN 12 3,935 47, 220
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FipT
#% 6 862, 900 5,177, 400
ARV oy AL E T
(P2 D)
= 1 27, 672, 684
KT oy EEE TOOKNZ! % 8f) #:50mm
#% 6 3, 553, 000 21, 318, 000
HiIFL ¢ 29 L=295mm
L 156 4, 830 753, 480
Toh- (PERER E) SD345 D19 X725
VN 24 2,726 65, 424
Th- (PERER IE) SD345 D19 X 720
VN 48 2,716 130, 368
Toh- (PERER E) SD345 D19 X715
VN 36 2,716 97,776
Th- (PERER E) SD345 D19 X710
VN 36 2,716 97,776
Th- (PERER E) SD345 D19 X 705
VN 12 2, 705 32, 460
FpT
#% 6 862, 900 5,177, 400
RCHJEE T
(PLAERE)
= 1 1, 956, 656
Fot v
m2 10 7,494 74, 940
HiIFL ¢ 35 L=385mm
L 120 4,949 593, 880
Ve RGN SD345 D25 X 1580
VN 24 3, 950 94, 800
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Ve RGN SD345 D25 X 1570
VN 24 3,930 94, 320
Ve RGN SD345 D25 X 1470
VN 72 3, 780 272, 160
/)= 25
m3 3 45, 650 136, 950
EQ,F)J# 9m2
= 1 94, 230
ATV
m3 0.3 1,907, 000 572, 100
ERAR SD345 D16~25
t 0.11 211, 600 23,276
RCHJEE T
(P2 D)
= 1 1,414, 229
Fot v
m2 9.4 7,494 70, 443
HiIFL ¢ 29 L=295mm
L 96 4, 830 463, 680
TR SD345 D19 X 1380
VN 60 2,461 147, 660
TR SD345 D19 X 1370
VN 36 2,451 88, 236
MV 25
m3 3 45, 650 136, 950
EQ,F)J# 10m2
= 1 104, 700
ATV
m3 0.2 1,907, 000 381, 400
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R SD345 D16~25
t 0.1 211, 600 21, 160
FEME ST C T
= 1 97, 418, 000
HEIIPC&SE T L
(PLAE D)
= 1 45, 600, 000
KB HHIPCAR ST C
#% 2 22, 800, 000 45, 600, 000
HEIIPCSE T L
(P2 D)
= 1 42, 940, 000
KB HHIPCAR ST C
#% 2 21, 470, 000 42, 940, 000
IR T
(PLAE D)
= 1 4, 458, 000
S
T 1 4, 458, 000 4, 458, 000
IR T
(P2A% D)
= 1 4, 420, 000
S
T 1 4, 420, 000 4, 420, 000
W fifs 1
= 1 493, 680
WrimE T 1
= 1 231, 800
fEE Lk B Y=t A/ MEVEY Mt=50mm
EE L0
&) 1 231, 800 231, 800
JE BB E
= 1 110, 400
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SRAMERAT L FRPY — b
m2 0.03 3, 680, 000 110, 400
EHAE L
= 1 151, 480
EHAE XN
T 2 75, 740 151, 480
Bk T
= 1 387, 920
TR AT
(F-11)
= 1 281, 520
TR B ) T HALE
m2 23 4, 020 92, 460
Fi& Aba=h ZEEh xv IR vk
m2 23 929 21, 367
Fi& BRI R Ve S e
m2 23 4,492 103, 316
R Lo FRIRERE
m2 23 1,094 25,162
% Lo FRIRERE
m2 23 1,705 39, 215
TR AT
(F-11) & I8 W IEEHD
= 1 106, 400
AR B ) T HALER
m2 7 4, 020 28, 140
£ T e B ) yFA A0 )
m2 7 2,960 20, 720
Fi& WAba=h ZEEh 2V IR vE
m2 7 929 6, 503
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THEX Sy« T - B - HH50 B B B B G = A & H R (GBS
Fi& HBIEE R Ve S ke
m2 7 4,492 31, 444
R Lo FRIRERE K
m2 7 1,094 7, 658
L Lo FRIRERE K
m2 7 1,705 11,935
EEWE T
= 1 3,771, 700
MR = 1
(PLAE D)
= 1 1, 703, 000
[EE e
T 1 1, 703, 000 1, 703, 000
MR = 1
(P2 D)
= 1 1, 703, 000
[EE e
T 1 1, 703, 000 1, 703, 000
TE AL T
= 1 365, 700
Bl 38 4 gk TR | (5 % FiAT 16. 51t
= 1 365, 700
% T
= 1 51, 497, 980
K- Jy 45 RS E T
(PLAE D)
= 1 11, 701, 200
K- Jy 45 R EEE T
(P2 1)
= 1 11, 701, 200
158G 1k T
= 1 4, 363, 580
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BT
= 1 23, 249, 000
RIEE T
= 1 483, 000
EPE T H R
= 1 220, 226, 873
MR E
= 1 29, 517, 808
B SGilTE:
= 1 9, 892, 808
T
= 1 4, 248, 000
Z M 4la]
= 1 4, 248, 000
et
= 1 920, 000
By 6% [
= 1 920, 000
HTE
= 1 824, 808
T8 B HE R FEART IR
= 1 58, 800
T W R R SR
= 1 243, 048
R EE 24m2
= 1 522, 960
BUGERRYCEE (K5 1)
= 1 3, 900, 000
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HimEpE (FE L)
= 1 19, 625, 000
g
= 1 249, 744, 681
BTk Xegiiv oy
= 1 87, 810, 000
R 5]
= 1 337, 554, 681
— R R
= 1 34, 945, 319
T HAlik
= 1 372, 500, 000
THE B 2 %8
= 1 37, 250, 000
TG
= 1 409, 750, 000
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